

$$o+\mathbb{B}R\bigtriangleup_{\omega}\mathbb{C}$$

$$\gamma\in\mathfrak{h}\bigtriangleup_{\omega}\mathbb{C}$$

$$\text{poly-disc}\cap\mathbb{C}_{\leqslant r}^d\in\mathfrak{h}$$

$$0<R^j\leqslant+\infty$$

$$\mathbb{C}^d \supset \mathfrak{h} \xrightarrow[\text{stet part } \mathbb{C} \text{ diff}]{\gamma} \mathbb{C}$$

$${}^{o^{\cdot}}\mathbb{C}_{\leq r^{\cdot}}^d \in \mathfrak{h}$$

$$\bigwedge_z^{o^{\cdot}\mathbb{C}_{\leq r^{\cdot}}^d} z\gamma = \int_{d\mathfrak{A}^{\cdot}} \frac{{}^{w^{\cdot}}\gamma}{({}^{w^{\cdot}}1 - z^{\cdot})}$$

$$z^1 \dots z^d \gamma = \int_{d\mathfrak{A}^1}^{o^1\mathbb{C}_{r^1}} \dots \int_{d\mathfrak{A}^d}^{o^d\mathbb{C}_{r^d}} \frac{w^1 \dots w^d \gamma}{(w^1 - z^1) \dots (w^d - z^d)}$$

$$\text{Ind}_{0 \leq d} d = 0: \quad \text{leer } 0 \leq d \curvearrowright d + 1: \quad {}^{o^{\cdot}}\mathbb{C}_{\leq r^{\cdot}}^d = {}^{o^1}\mathbb{C}_{\leq r^1} \times {}^{o'}\mathbb{C}_{\leq r'}^{d-1}$$

$${}^{o^{\cdot}}\mathbb{C}_{r^{\cdot}}^d = {}^{o^1}\mathbb{C}_{r^1} \times {}^{o'}\mathbb{C}_{r'}^{d-1}$$

$$(*) \quad \bigwedge_{z'}^{o'\mathbb{C}_{\leq r'}^{d-1}} {}^{:-z'}\gamma \text{ hol um } {}^{o^1}\mathbb{C}_{\leq r^1}$$

$$(**) \quad \bigwedge_{w^1}^{o^1\mathbb{C}_{r^1}} {}^{w^1;-}\gamma \text{ hol/stet part hol um } {}^{o'}\mathbb{C}_{\leq r'}^{d-1}$$

$$z = z^1:z' \in {}^{o^{\cdot}}\mathbb{C}_{\leq r^{\cdot}}^d \Rightarrow {}^{o^{\cdot}}\mathbb{C}_{\leq r^{\cdot}}^d \ni w \xrightarrow{\text{stet}} \frac{{}^w\gamma}{(w-z)^1} = \frac{{}^{w^1:w'}\gamma}{(w^1-z^1)(w'-z')^{1'}}$$

$$\stackrel{\Rightarrow}{\text{FUB}} \int_{d\mathfrak{A}}^{o^{\cdot}\mathbb{C}_{\leq r^{\cdot}}^d} \frac{{}^w\gamma}{(w-z)^1} = \int_{d\mathfrak{A}^1}^{o^1\mathbb{C}_{r^1}} \frac{1}{w^1-z^1} \int_{d\mathfrak{A}'}^{o'\mathbb{C}_{\leq r'}^{d-1}} \frac{{}^{w^1:w'}\gamma}{(w'-z')^{1'}} = \int_{d\mathfrak{A}^1}^{o^1\mathbb{C}_{r^1}} \frac{{}^{w^1:z'}\gamma}{w^1-z^1} = {}^{z^1:z'}\gamma = {}^z\gamma$$

$$\text{COR /} \quad \gamma_{\text{stet part diff}} \Rightarrow \gamma_{\text{diff}}^{\mathbb{C}}$$

$$\gamma_{\text{part diff}}^{\mathbb{C}} \stackrel{\Rightarrow}{\text{HAR}} \gamma_{\text{diff}}^{\mathbb{C}}$$

$$\partial_z^{\mathfrak{x}} \frac{1}{(w-z)^{\mathfrak{z}}} = \frac{1}{(w-z)^{\mathfrak{z}+\nu}}$$

$$\bigwedge_{\overline{z-o}<_r} \frac{z^{\cdot\nu}\gamma}{\cdot\nu!} = \frac{1}{\cdot_1\nu!\cdots\cdot_d\nu!} \partial_1^{1^\nu}\cdots\partial_d^{d^\nu} z^{1\cdots z^d}\gamma = \frac{1}{\cdot_1\nu!\cdots\cdot_d\nu!} \frac{\partial^{1^\nu}}{\partial z^1}\cdots\frac{\partial^{d^\nu}}{\partial z^d} z^{1\cdots z^d}\gamma$$

$$= \int_{dw^1\cdots dw^d}^{\partial_{ex}\mathbb{C}_{r_1\cdots r_d}^d(o^1\cdots o^d)} \frac{w^{1\cdots w^d}\gamma}{(w-z)^{1+\cdot_1\nu\cdots 1+\cdot_d\nu}} = \int_{d\mathfrak{W}^{\cdot}}^{\overset{o^{\cdot}}{\mathbb{C}}_r^{\cdot d}} \frac{w^{\cdot}\gamma}{(\cdot\nu+\cdot 1)^{\cdot}} = \int_{d\mathfrak{W}^{\cdot}}^{\overset{o^{\cdot}}{\mathbb{C}}_r^{\cdot d}} w^{\cdot}\gamma \overbrace{(w^{\cdot}-z^{\cdot})}^{(-\cdot\nu-\cdot 1)^{\cdot}}$$